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∆Gas =
𝐶Gas

meas

𝐶Gas
eq − 1 × 100%

∆Gas = 0% ⇒

•

𝜒2 = ෍
Gas ∈

{He, … , Xe}

𝐶Gas
meas − 𝐶Gas

model fitted parameters

𝜎𝐶Gas
meas

2

•

𝐶Gas
meas = 1 + 2 − 𝜅Gas ⋅ 𝑅ff ⋅ 𝐶Gas

eq
+ 𝐴 ⋅ 𝑧Gas

• 𝜅 𝑧 
𝐴 𝑅ff

•

•

•

𝐶Gas
meas = 𝐶Gas

eq
+ 𝐴 ⋅ 𝑧Gas ⋅ 1 + 1 − 𝜅Gas

2 ⋅ 𝑓ri

• 𝑓ri 
•

•

•

•

𝐶corr = 𝐶meas ÷ 1 + Δmodel

•

•

•

•

•

•

means means

‐

Contact
Stanley Scott
stanley.scott20@imperial.ac.uk 

Questions? 
Ask me here 
or email me!

mailto:sms120@ic.ac.uk
mailto:tanley.scott20@imperial.ac.uk
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